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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 399 6 1.7 8 75 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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3. Complete the following table.

The first row has been done for you. [4]
Angle Name of angle Reason
The angle is
Acute between
0° and 90°
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Name of angle






Sticky Note
Common error- Reflex angle instead of Obtuse angle.
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Sticky Note
Common error - angle greater than 90, candidates forgetting to add 'less than 180'.



5.

You will be assessed on the quality of your written communication in this question.

Both Len’s Store and Deb’s Store sell the same moisturising lotion, in the same sized bottles.

-

\

N

LEN’S STORE

Moisturising
Lotion
90p

Buy three get
4'™" free

J

Siwan needs to buy 12 bottles of moisturising lotion.

Deb’s Store

Moisturising
Lotion
£1.00

Buy two get
3vd free

Which of the two stores has the better offer for Siwan?

You must show all your working.
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Sticky Note
This candidate received full marks for the mathematics and the QWC.  Even though there isn't much writing, the candidate has shown clearly the steps of working, how many bottles are free, has labeled them clearly and has used the correct units.
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Sticky Note
This candidate received one mark for the QWC.  The candidate has shown clearly the steps of working, has labeled them clearly and has used the correct units.  Unfortunately the candidate hasn't communicated clearly how many bottles were free regardless of the fact that they got it wrong as well



7.

10

(@ Showing all your working, write 50 g and % in order, starting with the largest. [3]

N
ool

© WJEC CBAC Ltd. (4363-01)

Examiner
only








Sticky Note
A nice example.  Candidate shows clearly the comparison between the fractions and therefore gains full marks.


(a) Showing all your working, wrlts E and 3 in order, starting with the largest.






Sticky Note
Common error.  Candidate writing the answer only without showing all the working.  This candidate received only 1 out of the 3 marks available.


18

16.

The two spinners are spun.
The score is the total of the two numbers shown on the spinners.
The score shown above is eight.

There are two different game cards, card A and card B.

A game is played, crossing out the scores from the spinners on the game card as the spinners
are spun repeatedly.

The first game card with all four scores crossed out is the winning card.

Game card A

3 2
9 10

Game card B

4 6
5 7

Which game card is more likely to be the winning card?
You must show your working and give a reason for your answer. [4]
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Sticky Note
This candidate managed to find possible ways for each number on Card A and possible ways for the numbers on Card B.  Unfortunately, the candidate did not realise that there were many more combinations.  Consequently they only gained one mark out of four.  They could not gain the explanation mark as they had not gained at least 2 out of 3 marks for the possible combinations.







Sticky Note
This candidate managed to find possible ways for each number on Card A and two possible ways for Card B.  Unfortunately, the candidate did not realise that there were two possible combinations eg 1 and 3 or 3 and 1 and consequently lost one mark.
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UNIT 1 (FOUNDATION TIER)

Methods in Mathematics

June 2014 Unit 1 Foundation Tier Mark Comments
3. Rightangle Bl
90(°) El
Obtuse angle B1
Greater than 90(°) AND less than 180(°) El Accept 90(°) - 180(°), between 90(°) and180(°)
4
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Methods in Mathematics

June 2014 Unit 1 Foundation Tier Mark Comments
5. Any correct strategy for finding the need for S1
paying for 9 bottles from Len’s store AND §
bottles from Deb’s store
9 x 90(p) or 8 x (£)1.00 M1 Or equivalent
810(p) or (£)8.10 or (E)8 Al Or equivalent
810(p) or (£)8.10 AND (£)8 AND Deb’s store Al Or equivalent
Accept 8.1 for £8.10
If units are given they must be correct
Look for:
Clear process steps and labelling of calculations.
Correct use of pounds and pence.
QWC2: Candidates will be expected to
e present relevant work clearly, with QWC | QWC2 Presents relevant material in a coherent
words explaining process or steps 2 and logical manner, using
AND acceptable mathematical form, and with few if any
o make few if any mistakes in spelling, errors in spelling, punctuation and grammar.
punctuation and grammar
QWC1 Presents material in a coherent and logical
QWC1: Candidates will be expected to manner but with some errors in use of
e present work clearly which is mostly mathematical form, spelling, punctuation or
relevant, with words explaining grammar
process or steps OR
OR evident weaknesses in organisation of material but
o make few if any mistakes in spelling, using acceptable mathematical form, with few if
punctuation and grammar and include any errors in spelling, punctuation and grammar.
units in their final answer
QWCO Evident weaknesses in organisation of
material, and errors in use of mathematical form,
6 spelling, punctuation or grammar.
2
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Methods in Mathematics

June 2014 Unit 1 Foundation Tier ‘ Mark ‘ Comments
7. a) For 2 correct in a form which allows Bl
comparison
For all 3 correct in a form which allows Bl
comparison
%, 5/8, Y2 Bl Or equivalent
Answer only gets BO, B0, B1
b) 50/400 M1 Or equivalent eg 0.5/4
1/8 Al
5
2
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Methods in Mathematics

June 2014 Unit 1 Foundation Tier Mark Comments
16. Considering all possible outcomes, e.g. use of B3 Accept 6/25 and 16/25. No extra outcomes should be
two-way table, or showing all possible totals, or included, e.g. including numbers not on the spinners
(Game card A) 6 possible (ways or outcomes) AND If card A list complete, accept stopping listing card B
(Game card B) 16 possible (ways or outcomes) possibilities as soon as >6 possible ways indicated
correctly.
Example:
+ 1 2 3 4 5 B2 for at least 1 possible outcome indicated for each of
1 2 3 4 5 6 the 4 numbers on card A AND at least 2 possible
2 3 4 5 6 7 outcomes indicated for each of the 4 numbers on card B,
3 4 5 6 7 8 OR for all possible outcomes for card B
4 5 6 7 8 9 )
5 6 7 8 9 10 B1 for 1 way of scoring a number on card A AND 2
ways for a number on card B, OR all outcomes for card
A
The conclusion must be based on working, i.e. provided
Conclusion, game card B has the better chance - at least B2 previously awarded
4
4
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